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The maximum marks printed on the question
paper are applicable for the students of the
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of Cat. ‘A’ at the time of posting of awards for
Compilation of result.

Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt any Five questions.
All questions carry equal marks.
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How is the GDP computed using spending

method ? 10
What is value addition ¢ 5
What are the limitations of GDP concepts ? 5
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Calculate the equilibrium level of income from the following

data : 5
Consumption = 120 + 0.6 y,

Investment = 150 crores

Government Expenditure = 350 crores
{Exports-Imports) = 250 crores

Taxes = 250 crores
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How is the equilibrium of Gross Domestic Product (GDP)
determined in a four sector economy ? Explain with the

heip of Saving-Investment Approach ? 15
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What is an Inflationary Gap ? 5

How can fiscal policy remove the inflationary gap and

recgssionary gaps in the long run ? 15
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(@) How do Commercial banks create credit in a Multiple

Banking System ? 15

() What are the limitations of credit creation ¢ 5
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How are IS-LM Curves derived ? Derive AD curve from the

IS-L.M Curve Analysis. .||
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What is demand for money according to

Keynes ? 10

How is the rate of interest determined in the

Keynesian system ? 10
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What is Balance of Payment 7 What are the components of

Balance of Payments ? Why is Balance of Payments important

for a country ? 2
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*Write short notes on any fwo :

(@) Investment Multiplier

(b) Short Run Aggregate Supply Curve
(¢) Budget Surplus Function

(d) Net Export Function.
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